

PURCHASE ORDER
TEXAS A&M FOREST SERVICE
PURCHASING DEPARTMENT

Order Date
 08/29/2025

Page 01

200 Technology Way, Suite 1120, College Station, TX 77845-3424; Phone 979-458-7380, FAX 979-458-7386

Purchase Order No. P500459	(Include this number on all correspondence and packages)	VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.	INVOICE TO: TEXAS A&M FOREST SERVICE FRP-- INCIDENT RESPONSE 200 TECHNOLOGY WAY, SUITE 1162 COLLEGE STATION TX 77845-3424
VENDOR 65765765768 TFS - WILDFIRE CACHE SERVICE DEPARTMENT 1097 TEXAS FOREST SERVICE LOOP LUFKIN, TX 75904		ALL TERMS AND CONDITIONS SET FORTH IN OUR BID INVITATION BECOME A PART OF THIS ORDER.	SHIP TO: TEXAS A&M FOREST SERVICE FRP-- INCIDENT RESPONSE 200 TECHNOLOGY WAY, SUITE 1162 COLLEGE STATION TX 77845-3424

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M FOREST SERVICE PURCHASING DEPARTMENT PRIOR TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

Item	Description	Quantity	UOM	Unit Price	Ext Price
	USER REF: 000000-MT				
1	NUS Supplies for 5 new Type 6 Engines. Supplies provided from TFS Supply Cache	1	LOT	23,208.820	23,208.82
	EXEMPT PURCHASE - TEXAS A&M FOREST SERVICE PURCHASING PROCEDURES, SECTION 6 (EXEMPT PURCHASES).				
	INTERNAL TRANSFER OF INVENTORY FROM AGENCY SUPPLY CACHE TO SPECIFIC PROJECT.				
	VENDOR QUOTE: W007090 VENDOR REF: MELISSA TOOLE PHONE: 936-875-1626				
RTL					

Texas A&M Forest Service cannot accept collect freight shipments.

FOB: NOT SPECIFIED

Terms:

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions nor cancellations permitted without prior approval of Purchasing Department.

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY

THIS ORDER IS NOT VALID UNLESS SIGNED BY THE PURCHASING AGENT

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Texas Tax Code, Section 151.009 (4), for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

The Terms and Conditions of the State of Texas shall prevail.

PURCHASING AGENT FOR

[Signature]
TEXAS A&M FOREST SERVICE



Texas A&M Forest Service
ATTN: Accounts Receivable
200 Technology Way, STE 1120
College Station, TX 77845-3424

INVOICE NO.

W007090

Invoice Date

8/28/2025

TINS ID#: 35765765769-006

Federal Employer ID#: 74-6014065

TEXAS A&M FOREST SERVICE-COLLEGE
STATION
200 TECHNOLOGY WAY
SUITE 1162
COLLEGE STATION, TX 77845

Customer #:0000000005502

ACCOUNTING USE ONLY			
BILLING DEPT:	FOPS		
GL/SL ACCOUNT	S/A	REVENUE CODE	AMOUNT
280013	00000	0574	\$23,208.82

	<u>Quantity</u>	<u>Unit Cost</u>	
9999-99-000-0309 CORD, nylon shroud (P-Cord), spool, 1000'	5	\$50.32	\$251.60
9999-99-000-0285 HOSE, double jacket, 1-1/2" NH x 25', Blue (refill hose)	4	\$91.88	\$367.52
9999-99-000-0267 HOSE, single jacket, 1-1/2" NH x 25', Red (engine protection hose)	5	\$74.81	\$374.05
9999-99-000-0263 PLIERS, fencing, 10-1/4"	5	\$26.25	\$131.25
9999-99-000-0168 VALVE, automatic check and bleeder 1-1/2" NH-F	5	\$128.62	\$643.10
9999-99-000-0152 REDUCER, 1-1/2" NH-F (9 TPI) to 1" NH-M (8 TPI)	5	\$23.63	\$118.15
9999-99-000-0147 NOZZLE, fire foam, 1-1/2" NH, 15 GPM, plastic (Scotty)	5	\$47.25	\$236.25
9999-99-000-0146 NOZZLE, fire foam, 3/4" NH, 8 GPM, plastic (Scotty), substitute for NFES#0627	10	\$18.85	\$188.50
9999-99-000-0073 ADAPTER, 1" NH-F to 1" NPSH-M	5	\$15.80	\$79.00
9905-01-523-2324 RIBBON, flagging, yellow with black stripes, 1" wide (hazard) [Typically 12 rolls / BX]	5	\$20.52	\$102.60
9905-01-458-2059 RIBBON, flagging, dark pink, 1" wide [Typically 12 rolls / BX]	12	\$20.40	\$244.80
9905-00-148-9546 REFLECTOR SET, Highway Warning Device	5	\$19.26	\$96.30
8465-00-128-6928 PAIL, plastic, collapsible	5	\$9.71	\$48.55
8415-00-259-8722 SHIRT, FIRE, x-large	5	\$76.62	\$383.10
6660-01-024-2638 BELT, weather, observation kit, Complete	2	\$140.72	\$281.44
6545-01-010-7754 KIT, FIRST AID KIT, 10-25 PERSON, BELT TYPE	5	\$155.81	\$779.05
6515-01-376-7247 KIT, Bodily Fluids Barrier Kit	4	\$45.10	\$180.40
6260-00-294-1279 FUSEE, signal device, hand (72/BX)	5	\$130.89	\$654.45
5330-00-720-2621 GASKET, hose, 1", rubber (packet of 10)	5	\$4.70	\$23.50
5330-00-239-1875 GASKET, hose, 2" (packet of 10)	5	\$10.93	\$54.65
5330-00-239-1873 GASKET, hose, 1-1/2" (packet of 10)	5	\$2.80	\$14.00
5310-00-599-0776 GASKET, garden hose, 3/4" (packet of 10)	5	\$6.29	\$31.45
5120-01-240-2120 TOOL, combination shovel and grub hoe	10	\$77.18	\$771.80
5120-00-965-0609 TOOL, SHOVEL, with plastic sheath, size #1	10	\$58.87	\$588.70
5120-00-596-1426 WRENCH, spanner, 5" length, 1" to 1-1/2" hose size	10	\$7.33	\$73.30
5120-00-293-3467 TOOL, PULASKI, with plastic sheath	10	\$67.42	\$674.20
4820-00-126-5114 VALVE, foot, 1-1/2" NH-F w/ strainer	5	\$82.04	\$410.20

4730-00-595-1103 NOZZLE, garden hose, 3/4" NH, adjustable, brass	10	\$13.21	\$132.10
4320-00-289-8912 PUMP, Backpack, COMPLETE, yellow	12	\$122.09	\$1,465.08
4240-01-504-7863 GOGGLES, UVEX stealth model, clear lens, ANSI Z87.1	10	\$10.72	\$107.20
4240-01-498-3194 SHELTER, Fire, M-2002, complete with blue case	5	\$369.15	\$1,845.75
4210-01-526-2977 HOSE, synthetic, Type II, 1-1/2" NH x 50', Yellow	6	\$204.04	\$1,224.24
4210-01-508-8818 REDUCER, 2-1/2" NH-F (7-1/2 TPI) to 1-1/2" NH-M (9 TPI)	5	\$24.30	\$121.50
4210-01-412-6335 VALVE, wye, gated, brass, 3/4" NH-F x 3/4" NH-M x 3/4" NH-M	20	\$12.77	\$255.40
4210-01-412-5688 APPLICATOR, water, 2-piece, 3/4" NH, 48" long (Mop-up Wand)	5	\$26.01	\$130.05
4210-01-412-5684-1 VALVE, shut off, zinc, ball 3/4" (limited quantity)	10	\$2.48	\$24.80
4210-01-412-5684 VALVE, shut off, brass, ball 3/4" NH	15	\$12.95	\$194.25
4210-01-412-5683 TIP, applicator, 3 GPM	10	\$7.75	\$77.50
4210-01-167-1061 HOSE, garden, synthetic 3/4" NH (8TPI) x 50'	15	\$37.95	\$569.25
4210-01-166-8122 HOSE, synthetic, lined, 1" NPSH (11-1/2 TPI) x 50'	15	\$141.78	\$2,126.70
4210-01-165-6600 VALVE, shut off, 1-1/2" NH	5	\$106.51	\$532.55
4210-01-165-6599 VALVE, shut off, 1" NPSH	5	\$91.35	\$456.75
4210-01-081-8749 COUPLING, double female 1-1/2" NH-F	11	\$26.17	\$287.87
4210-01-081-0417 TEE, hose line, w/valve, 1-1/2" NH-F x 1-1/2" NH-M x 1" NPSH-M	6	\$79.96	\$479.76
4210-01-080-6532 INCREASER, 1" NPSH-F (11-1/2TPI) to 1-1/2" NH-M (9TPI)	5	\$16.42	\$82.10
4210-01-080-6531 INCREASER, 3/4" NH (8TPI) to 1" NPSH (11-1/2TPI)	5	\$20.01	\$100.05
4210-01-080-1460 TEE, hose line, w/cap, 1-1/2" NH-F x 1-1/2" NH-M x 1" NPSH-M	10	\$51.24	\$512.40
4210-01-080-1459 TEE, hose line, w/cap, 1" NPSH-F x 1" NPSH-M x 1" NPSH-M	10	\$23.49	\$234.90
4210-01-080-1458 COUPLING, double male, 1" NPSH-M	5	\$12.68	\$63.40
4210-01-080-1457 COUPLING, double female, 1" NPSH	5	\$25.40	\$127.00
4210-01-079-9286 REDUCER, 1" NPSH-F (11-1/2 TPI) to 3/4" NH-M (11-1/2 TPI)	13	\$7.17	\$93.21
4210-01-079-9285 COUPLING, double male 1-1/2" NH-M	5	\$15.64	\$78.20
4210-01-079-9284 ADAPTER, 1-1/2" NH-F to 1-1/2 NPSH-M	10	\$13.88	\$138.80
4210-01-079-9283 ADAPTER, 1-1/2" NPSH-F to 1-1/2" NH-M	5	\$7.60	\$38.00
4210-00-975-2969 REDUCER, 1-1/2" NH-F (9 TPI) to 1" NPSH-M (11-1/2 TPI)	7	\$11.69	\$81.83
4210-00-767-7123 CLAMP, hose shut off, 1"-1-1/2" hoses, 10" long	10	\$61.10	\$611.00
4210-00-640-1892 NOZZLE, twin tip, combination, 1" NPSH-F (forester)	10	\$149.10	\$1,491.00
4210-00-203-3512 TOOL, MCLEOD, with plastic sheath, 11" wide	5	\$69.96	\$349.80
4210-00-181-8872 NOZZLE, plastic, 60 GPM, 1-1/2" NH-F x 4-3/4" long, red	15	\$8.41	\$126.15
4210-00-126-5108 VALVE, wye, gated, 1" NPSH-F x 1" NPSH-M x 1" NPSH-M	9	\$129.28	\$1,163.52
4210-00-085-2291 NOZZLE, plastic, 35 GPM, 1" NPSH-F, red	10	\$8.48	\$84.80
		Sub-Total	\$23,208.82
		Tax	\$0.00
		Total Due	\$23,208.82

Prepared By: Toole, Melissa Phone: 979-777-1790

PAYMENT COUPON



Please Send Payment to:

Texas A&M Forest Service
ATTN: Accounts Receivable
200 Technology Way, STE 1120
College Station, TX 77845-3424

Invoice #	Payment Due Date	Total Due	Amount Paid
W007090	9/27/2025	\$23,208.82	

TEXAS A&M FOREST SERVICE-COLLEGE STATION
200 TECHNOLOGY WAY
SUITE 1162
COLLEGE STATION, TX 77845



Billing Summary Information

Make payment payable to **Texas A&M Forest Service**.
Write your invoice number on your payment.
Mail payment coupon along with your payment to the address shown above.
Note any address change on payment coupon.

Notes:

There are no notes for this invoice.